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AIMTANTHXEIZ
OEMA A
Al. Oewpia oyorkod Bipriov cerida 175.
A2. Ocwpio oyolkob Pipiiov cerida 182.
A3. Ocwpia oyorkod Bipiiov cerida 35.
A4.
AS.0) A
B) A
7) A
0) X
OEMA B
B1. T=n, fmax=3, fmin=-3.

B2.
X 0 & n 3n T
4 2 4
2x 0 T T 3n 2n
2 2
oLV2X | 0 -1 0 1
f(x)=3cvv2x 0 -3 0 3
B3.
3 ___________________________________________________________________

0 /4 /2




B3.

3 1
f(x)=z(:>o'vv2x=§<:>
( T
2X = 2K + —
T 3
0vv2x=avv§<=! 1 =3
2X = 2KTT — —
X KTT 3
(x—ic7r+E
B 6
{ 1 KELZ
B T
kx—lm—6
OEMAT
I'l.
P(1)=0 kK+A=-1 K=-—7
{P(—2)=0®{4K+A=—22‘:’{A=6

I'2. P(x)=0<x*-x3-Tx3+x+6=0(x-1) (x3-7x-6)=0<3(x-1)(x+2)(x?-2x-3)=0<

( x—1=0&x=1
mn
x+2=0x=-2
1

kx2—2x—3=0<:>x=—1r']x=3

I'3. P(x)<0<(x-1)(x+2)(x3-2x-3)<0

X e 2 -1 1 3 +oc
x-1 - - | - C)-i' +
X+2 - O+ | + |+ |+

x2-2x-3 | O - | -O+

W] e




I4.

+oc

P(x 5

@) S 0 (k= 5)P(x) 2 0
x—75

X w2 -1 1 3 5
X-5 - - -

+| +

P(x) + CP -(P+ (lj-
I'vopevo - d)+¢) -OF
]

x€[-2, -1]U[1, 3]U(5, +o0)

OEMA A
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